


-
x
©
=
~
w9
(=)
x
o
=
(7]
£
&
o
@
c
£
o
o

Accessories

Connectors M5 x 0,5/ M8 x 1

see color code

see color code

Connector ESW 05S | | Connector ESG 05S | | Pin-assignment connector M5 x 0,5
o6 Uo"
M5 x 0,5 X ©
St : i
ST ° ® © = _
IS *
F 75| 20
20 L 275 L
see color code see color code
for wiring for wiring
Part number Part number Pin-Nr. _Color
ESW 05SP0200 3 pin 2 m PUR ESG 05SP0200 3 pin 2 m PUR 1 BN (Brown)
ESW 05SP0500 3 pin 5m PUR ESG 05SP0500 3 pin 5m PUR 9 ne.
3 BU (Blue)
- with cap nut - with cap nut 4 BK (Black)
Connector ESW 08S / ES 8A | | Connector ESG 09S / ES 9A Connector ESW 31S
210
M8 x1
28,1
[Te)
2
o | © == /
ol g T e - 7
25 | L 26 L

see color code

- halogen-free

- halogen-free

for wiring for wiring for wiring
Part number Part number Part number
ESW 08SH0200 3 pin 2 m PUR ESG 09SH0200 3 pin 2 m PUR ESW 31SH0200 3 pin 2 m PUR
ESW 08SH0500 3 pin 5 m PUR ESG 09SH0500 3 pin 5m PUR ESW 31SH0500 3 pin 5m PUR
ES 8A 4 pin 2mPVC ES 9A 4 pin 2mPVC ESW 31SH1000 3 pin 10 m PUR
ES 8A5 4 pin 5m PVC ES 9A5 4 pin 5m PVC
- with clip fastener - with clip fastener - with cap nut
- PUR, halogen-free - PUR, halogen-free - halogen-free
Connector ESW 31A | | Connector ESG 32S | | Connector ESG 32A
210 _
x —
M8 x1 = >
or = =
to) — HHAHEA of 7
<o) u Q HHEHE— Q HUOHLE
- —/— |
] 30 L 30 L
26 | L
see color code see color code see color code
for wiring for wiring for wiring
Part number Part number Part number
ESW 31AH0200 4 pin 2mPUR ESG 32SH0200 3 pin 2 m PUR ESG 32AH0200 4 pin 2mPUR
ESW 31AH0500 4pn 5mPUR ESG 32SH0500 3pin  5mPUR ESG 32AH0500 4 pin 5m PUR
ESW 31AH1000 4 pin 10 m PUR ESG 32SH1000 3 pin 10 m PUR ESG 32AH1000 4 pin 10 m PUR
- with cap nut - with cap nut - with cap nut

- halogen-free

www.baumerelectric.com




Connectors M8 x 1

Connector ESW 31AP Connector ESG 32AP Connector ES 22 / ES 22A &
©
=
[’

297 = o Y 28 s
L Mex Q o 5 2 3
‘ ! ‘ S Il £
© @ 1 ‘I o) &
N - © o & S
31,6 L
26 L
see color code see color code
for wiring for wiring
Part number Part number Part number
ESW 31AP0500G 4 pin 5m PUR ESG 32AP0500G 4 pin 5m PUR ES 22 3 pin
ES 22A 4 pin

- shielded - shielded - for self-assembly

- screen connected with cap nut - screen connected with cap nut - with cap nut

- PUR, halogen-free - PUR, halogen-free

Connector ES 21/ ES 21A Connector ES 30

~ 8 PoR
e o = I
= . |
Y — faar
HHH
334
40 ‘ 23 L

Part number Part number E

ES 21 3 pin ES 30.2 2pin 2mPVC S

ES 21A 4 pin @

- for My-Com BS only 8
- with clip fastener <

- for self-assembly
- with cap nut

Pin-assignment connector 3-pin (V1 8) Pin-assignment connector 4-pin (M8)

4 2
[}
A
- -1
3 1 3 1
viewed from rear of connector viewed from rear of connector
Pin-Nr. Color Pin-Nr. Color
1 BN (Brown) 1 BN (Brown)
3 BU (Blue) 2 WH (White)
4 BK (Black) 3 BU (Blue)
4 BK (Black

www.baumerelectric.com -



-
X
N
-
=
[
=
2
o
(]
c
c
=}
(8]

Accessories

Connectors M12 x 1

Connector ESW 33S | | Connector ESW 33A| | Connector ESW 33AF
‘ 32 L 1 32 L M12x 1
‘ 14,7 !
014'7M12x1 D “IM12 x 1 e, SW14
| — — © il| #ffr ©
5| 1S}
u(g & ‘ ] ‘Alj'l_f N
& i N | 1
] — | 1
see color code see color code 38 L
for wiring for wiring
Part number Part number Part number
ESW 33SH0200 3 pin 2 m PUR ESW 33AH0200 4 pin 2 m PUR ESW 33AF0500 4 pin 5m PVC
ESW 33SH0500 3 pin 5m PUR ESW 33AH0500 4 pin 5m PUR
ESW 33SH1000 3pin 10 m PUR ESW 33AH1000 4 pin 10 m PUR
- with cap nut - with cap nut - with stainless steel cap nut
- halogen-free - halogen-free
Connector ES 33C Connector ESG 34S Connector ESG 34A
1 32 L : :
214,7 o o
‘ “IM12 x 1 S s
— [ g =
j— 5 3
o) © [ e M © 14 ]
© T
N 1 42 L 42 L
see color code see color code see color code
for wiring for wiring for wiring
Part number Part number Part number
ES 33CP2 5 pin 2 m PUR ESG 34SH0200 3 pin 2 m PUR ESG 34AH0200 4 pin 2 m PUR
ES 33CP5 5 pin 5 m PUR ESG 34SH0500 3 pin 5 m PUR ESG 34AH0500 4 pin 5m PUR
ESG 34SH1000 3 pin 10 m PUR ESG 34AH1000 4 pin 10 m PUR
- with cap nut - with cap nut - with cap nut
- halogen-free - halogen-free
Connector ESG 34AF | | Connector ES 34C
x SW 14 é
o © p
s o -
i
oy 4|
42 L
42 L
see color code
for wiring
Part number Part number
ESG 34AF0500 4 pin 5m PVC ES 34CP2 5 pin 2 m PUR
ES 34CP5 5 pin 5m PUR
- with stainless steel cap nut - with cap nut

www.baumerelectric.com




Connectors M12 x 1

Connector ES 33A Connector ES 34A Connector ES 34C
‘ 31 L
2145 * *
"IM12 x 1 o~ o~
I s s
o S =5 2 —
N o] [t~ SN =
- 44 44
see color code see color code see color code
for wiring for wiring for wiring
Part number Part number Part number
ES 33AP2B 4 pin 2 m PUR ES 34AP2B 4 pin 2 m PUR ES 34CP2B 5 pin 2 m PUR
ES 33AP5B 4 pin 5m PUR ES 34AP5B 4 pin 5m PUR ES 34CP5B 5 pin 5m PUR
ES 33AP10B 4 pin 10 m PUR ES 34AP10B 4 pin 10 m PUR ES 34CP10B 5 pin 10 m PUR
- shielded - shielded - shielded

- screen connected with cap nut

- screen connected with cap nut

- screen connected with cap nut

Connector ESG 34F Connector ES 4A Connector ES 14 / ES 14C
- o~ 2 20
cii =] M12 x 1
S S °
~F ° Z
3 - 0
Q — == @ M ~
_8 ” L 1 =
43 L 30,5 10
see color code
for wiring
Part number Part number Part number
ESG 34FP0200B 8 pin 2 m PUR ES 4AP5L PNP 4 pin 5m PUR ES 14 PG7 4 pin
ESG 34FP0500B 8 pin 5m PUR ES 4AN5L NPN 4 pin 5m PUR ES 14C PG7 5 pin
- shielded LED 1: +Vs - for self-assembly
- screen connected with cap nut LED 2: output 1 - with cap nut
Connector ES 18 / ES 18C | | Connector M12 x 1 Note
jacket insulation
material: Polyetherurethane
TPU 11YH1
| =F o
S g g flame retardent
@ T =t‘ according to: IEC 332-2

strand insulation: halogen-free

60
Part number Part number Connectors with halogen-free cables
ES 18 PG7 4 pin 135462 5 pin - strands UL-style 10493
ES 18C PG7 5 pin 146775 8 pin - PVC- and halogen-free

- for self-assembly
- with cap nut

- for self-assembly
- screen can be connected with cap nut
(necessary for sensors with analog output)

- suitable for flexible cable carriers

www.baumerelectric.com

-
x
)
S
=
(4
P
2
(X
@
c
c
S
(&)

Accessories




-
x
N
-
=
[
=
2
o
Q
c
c
=]
(8]

Accessories

Connectors M12 x 1

Pin-assignment connector 3-pin (V1 12)

Pin-assignment connector 4-pin (M 12)

viewed from rear of connector

viewed from rear of connector

viewed from rear of connector

Pin-Nr. Color Pin-Nr. Color Pin-Nr.  Color

1 BN (Brown) 1 BN (Brown) 1 BN (Brown)

2 n.c. 2 WH (White) 2 WH (White)

3 BU (Blue) 3 BU (Blue) 3 BU (Blue)

4 BK (Black) 4 BK (Black) 4 BK (Black)
5 GY (Grey)

Pin-assignment connector 8-pin (M 12)

Pin-Nr.

Color

WH (White)

BN (Brown)

GN (Green)

YE (Yellow)

GY (Gray)

PK (Pink)

BU (Blue)

0 N[O OB W N =

RD (Red)

www.baumerelectric.com

Pin-assignment connector 5-pin (M 12)




Converters / Adapters

PNP to NPN Converter - M8 x 1 161959 g
2
&
°
<
~
LED output state indicator LED "power-on" indicator g
IR ssvAl % ‘%
B @ >
3 1 <
N S —— e I KV S — :ﬂ _ 38
E——— = =
o ;
‘ ‘ =l ‘ ‘ Pin-Nr. Color Signal
ol % 32 50 51 50 37 - 1 BN (Brown) +Vs
| ® =
o 2 ‘ ‘ ‘ ‘ 1 3 BU (Blue) oV
= 4 BK (Black) NPN
Q

for sensors with M8 x 1 three-pin connectors only

PNP to NPN Converter - M12 x 1 161958
LED output state indicator LED "power-on" indicator
10 10
N D] 1Y 71 A ]
= L = ]
ol ;
2 Pin-Nr. Color Signal
~ =il 150 51 50 46 o= 1 BN (Brown) +Vs
I e 2
oIS s n.c. n.c. g
== = 3 BU (Blue) oV 5
’I; ] — HE 4 BK (Black) NPN %’
~ ]
- <
Q
for sensors with M12 x 1 three-pin connectors only
Teach-in Adapter - M12 x 1 141584
Pin-Nr. Ultrasonic Inductive
1 +Vs +Vs
2 control/Teach-in output digital
3 oV oV
4 output output analog

for inductive analog sensors and ultrasonic sensors only

www.baumerelectric.com -



x
Ty
o)
®
2
Ly
»
[Z]
2
£
o
=
=
c
E}
o
=

Accessories

Mounting kits SENSOFIX

SENSOFIX - Base module

e Sensor can be aligned in any direction
e Quick and secure mounting

e Several mounting variations

max. torque
3 Nm

Part number 149010

- ball pivots made of galvanized steel

- clamps and mounting panel made of stainless steel

SENSOFIX - Mounting variations

e Can be mounted on panels, profiles
or sheets metal - anywhere an M 6
hole can be drilled

* Mountable on 8 mm diameter rails

e Mounting screws supplied with kit

SENSOFIX Series 08 cylindrical

SENSOFIX Series 10 rectangular

SENSOFIX  Series 12 cylindrical

Part number 151719

- clamps made of stainless steel
- ball pivots made of galvanized steel
- mounting panel made of stainless steel

Part number 150326

- clamps made of stainless steel
- ball pivots made of galvanized steel
- mounting panel made of stainless steel

Part number

- clamps made of stainless steel
- ball pivots made of galvanized steel
- mounting panel made of stainless steel

151720

www.baumerelectric.com




Mounting kits SENSOFIX

SENSOFIX Series 12 rectangular

SENSOFIX Series 13 rectangular

SENSOFIX Series 14 rectangular

Part number 150328

- clamps made of stainless steel
- ball pivots made of galvanized steel
- mounting panel made of stainless steel

Part number

- clamps made of stainless steel
- ball pivots made of galvanized steel
- mounting panel made of stainless steel

161829

Part number

- clamps made of stainless steel
- ball pivots made of galvanized steel
- mounting panel made of stainless steel

149011

SENSOFIX Series 16 rectangular

SENSOFIX Series 18 cylindrical

SENSOFIX Series 18/20 rectangular

Part number 151721

- clamps made of stainless steel
- ball pivots made of galvanized steel
- mounting panel made of stainless steel

Part number

- clamps made of stainless steel
- ball pivots made of galvanized steel
- mounting panel made of stainless steel

151658

Part number

- for IWFM 18 housing styles
- for 20 series inductive and capacitive sensors

152385

SENSOFIX Series 20 rectangular

SENSOFIX Series 30 rectangular

Part number 150326

- clamps made of stainless steel
- ball pivots made of galvanized steel
- mounting panel made of stainless steel

Part number 152386

www.baumerelectric.com

x
[y
Qo
%2}
2
L
»n
[Z]
]
£
o
=
=]
c
3
o
=

Accessories




0
=
=
>
c
£
15
3
o
=

Accessories

Mounting kits

MINOFIX- Mounting kit

50 ©
© 7575 .25
§ Q
] Bo99 -
L]
20 ©
3xM3
25
Part number 150844

- Material: nickel-plated brass
- For use with MINOS
- Kit includes screws and nuts

Mounting kit F04

75

M6

15 18 ‘
]
|t 3,05
20 0
M3 @
30
Part number 163196

- Material: nickel-plated brass
- For use with FHDK 04

www.baumerelectric.com




Mounting brackets / Clamping nuts / Test set

Mounting bracket 109474 | | Mounting bracket 109475 Mounting bracket (2 pcs) 143377
6
Bog e Rog (e ||
= I & -©¢e
B & = L/ o
iy | i R 45
L6, 6.l

for 6,5 mm diameter proximity switches
material plastic (PA 6.6. black)

for mounting use M 3 (3 mm @) screws

for 8 mm diameter proximity switches
material plastic (PA 6.6. black)

for mounting use M3 (3 mm @) screws

for 20 mm diameter proximity switches
material plastic (PA 6.6. black)

Clamping nuts

Type | oD |[M ISW (B |A
E3 63 |M5x075 |5 |7 |3
E4 64 |M6x075 |6 |8 |3
E65 | 065/ M8x075 |8 |11 |4

for proximity switches @ 3, @ 4 and @ 6,5 mm

Type Part number

E3 137021

E4 119345

EB,5 117742

Test set 115437

This sensor test unit has been designed
primarily to test and demonstrate three
wire NPN and/or PNP proximity DC
switches. Sensor connection is simple
using the three spring loaded terminals.

Red LED indicates PNP output
Green LED indicates NPN output.

An internal beeper is also audible when
the sensor output is conducting.

The unit is powered by two 9V batte-
ries which are accessed by removing
the back panel.

www.baumerelectric.com

=
o
(7]
<
3
-
=
(2]
i
=]
[
(=2}
£
[=}
£
K
o
~
(2}
&
o
=
Q
]
B
e
(=]
£
=
c
=
(=)
=

Accessories




[Z]
8
(]
==
o
©
S
S
o
s
=
c
E}
o
=

Accessories

Mounting brackets

- Material: steel

- Material: steel

Mounting plate Series 10 | | Mounting bracket Series 10 | | Mounting bracket Series 10
72
21,6 _ 08 ) 1.9 25,2
16,1 106 o 0,75 .32
2,6 ~ o i <] ©
o < TV o Ty o o
) N Cop o — g F¢ ‘@L - 71
[IENER ¢ '
g = a3 1.4 27,5 3,2
Sl o
- L A= 10.12,2 == 6[
g_ 8 E:til g 10
SIS 15
3,2 o] ©
Part number 162083 Part number 118798 Part number 114501
- Material: steel - Material: steel - Material: steel
- for cabel version series 10
Mounting bracket Series 10 | | Mounting bracket Series 12| | Mounting bracket Series 13
23 30,9
k—»
3,2 3
. 1591 N 40
~ o - —r ~ X <
i 28 e m :
R % QL T o~
20 é
11 3.2 20,5 18 32
= : 335 !:
i 125, ,_7
IS & |, 3.3
9 o =
*M R ‘ o [ = o
P f ! 20| || 105 ® it
10,5 \ 20 1 ! 4,5
‘ 18
Part number 133792 Part number 113873 Part number 161695
- Material: steel - Material: steel - Material: steel
- for connector version series 10
Mounting bracket Series 14 | | Mounting bracket Series 15| | Mounting bracket Series 16
. 30° 34
20 il
T 3 4.3 5
) o) |
- < - 9 < N gl S — %i,
[re} o vy - g
¥ : ) Y A B g
K 2 2 G- SF{ & Nl = 41,1 &
} \ 26 10 il =
f 7.5 10 * 30
36 28 | -
+ 25 E
< . —5 gDB:i o))
T z%:ﬁ o o H=h 1= ol 3
¥ a vé,\w = 16| 30
N L/
55_| |_ 25 VY 30 |18
Part number 134964 Part number 103415 Part number 113917

- Material: steel

www.baumerelectric.com




Mounting brackets

A

Mounting bracket Series 16 | | Mounting bracket OADM 20 Mounting bracket Series 22 2
-

= %39 4,1 30 §

43 __5 ' o ﬁ =

= 50 m%* -9 5

) . £

" =

60
e
1
g !
1 =]
:
L 3
75
4
57
58
4

a— :
1 ~ Q 0 <
S : |
38 * — [E 37 1
25
N 5@3 45
“ e i
T R W
10 30 18
Part number 119373 Part number 131521 Part number 126220
- Material: steel - Material: steel - Material: steel
- for fine adjustment OSDM 16 - for LOGIPAL and PosCon
Mounting bracket Series 26 | | Mounting bracket VeriSens Mounting bracket VeriSens
o 48,5 50,5 58 o 40
o= — — e i - 2
L ,?7 ’ W< b¥
el NGs % @ﬂ> ‘ ‘ <
Lo o ° | | <
© <
~ == © N # S >
0 T} & hd o
o) 0 ) Vv I
. - ’ ”%” Teay ,
Y
! - 5.5 54 N2 \3/
265, = = 3 of o ne . N
olaiH e R v 5&% 2
T / < «,\%Aé) ] .g
N Xl s | —8
Q
(]
Part number 112477 Part number 159906 Part number 159905 b
- Material: steel - Material: steel - Material: steel
- for VeriSens - for VeriSens

Lens cleaning air nozzle bracket Series 16

/\/l? Yo
| [fe]
) ix
2 5
47 5,7
15 '
15,4
Part number 116407

- Material: steel

-incl. nozzle

www.baumerelectric.com -



Accessories ultrasonic sensors / Sonic beam deflectors

4 a a a a
o Sonic beam deflector Series 10 Sonic beam deflector Series 20
3
®
°
£
2 1] oy
9 x| 1 |
= o) O R
)
m () o
o 4.65] 10 46510
18 18
[ G
Part number 162376 Part number 153290
- Material: steel - Material: steel

- Set of two (left / right)

[
A
o
7]
=
T}
(2]
=
=
o
(7]
©
S
=
=
(]
[}
=
o
@?
7]
@
Q
2}
<

- www.baumerelectric.com



www.baumerelectric.com -



Reflectors

[
B
o
(7]}
c
@
«n
(=]
£
o
=
[
<]
1
1]
=
oS
[
@
=
°
[
7]
@
Q
Q
<

Accessories photoelectric sensors / reflectors

- Fastening method screw mounting
- micro structure

- Fastening method self-adhesive

Reflector round Reflector round Reflector round
15
15 ~ o [ 5.5
3,7 13 } ™,
| g
017,4] 2.2
219 2,7
2207 | 55
Part number FTAR 013A000 Part number FTAR 017A000 Part number FTAR 020A000
- Fastening method self-adhesive - Fastening method self-adhesive - Fastening method self-adhesive
- micro structure
Reflector round Reflector rectangular Reflector rectangular
6,5
5
5,3 12,8 25
3 el
Part number FTAR 036A000 Part number FTDR 010A014 Part number FTDR 010D020
- Fastening method self-adhesive - Fastening method self-adhesive - Fastening method self-adhesive
- for laser light sensors
Reflector rectangular Reflector rectangular Reflector rectangular
3.5 20
7 35 84, 18 .8 32,5
I
H Y
8 5|8 g 2
H Y
2 ©
Part number FTDR 017A027 Part number FTDR 015A038 Part number FTDR 029A046

- Fastening method self-adhesive

www.baumerelectric.com




Accessories photoelectric sensors / reflectors

Reflector rectangular

Reflective tape rectangular

Reflective tape By the meter

9,8

50

FTDR 047A048
- Fastening method screw mounting

Part number

FTDF 020F020

- Fastening method self-adhesive
- for laser light sensors

Part number

FTDL 050K000/ ... m
- Fastening method self-adhesive

Part number

- Fastening method screw mounting
- for pocket-size line sensor PosCon

Reflector rectangular | | Reflector rectangular | | Reflector rectangular
5° A 5°
B 4] |
R 5]
50 191 211
40 | 175 Q 395 10
: R R
o h[ 0 o
® 0 ol ﬂ < /L /L < ™M1 ©
o
CIE 10 85,5 85,5 545 10| 1955 1955 [\245
Part number FTDR 0051040 Part number FTDR 0201175 Part number FTDR 0351395

- Fastening method screw mounting
- for pocket-size line sensor PosCon

- Fastening method screw mounting
- for pocket-size line sensor PosCon

- Fastening method self-adhesive
- for pocket-size line sensor PosCon

Reflective tape rectangular Reflective tape rectangular Reflective tape rectangular
y _ )
¥ ~ ,,’,’ & by
40 7 Iy
175 7
335
Part number FTDF 0051040 Part number FTDF 0201175 | | Part number FTDF 0351395

- Fastening method self-adhesive
- for pocket-size line sensor PosCon

- Fastening method self-adhesive
- for pocket-size line sensor PosCon

www.baumerelectric.com

Reflectors

[
3
o
(7]
c
]
(7]
(2}
£
o
=
[
<]
S
°
=
=
0
(]
=
o
(7]
(7]
®
Q
Q
<




Reflectors

[
13
o
(%]}
c
@
(7]
(2}
£
o
=
[
<]
S
°
£
=
0
(]
‘=
o
(7]
(7]
@
Q
Q
<

Accessories photoelectric sensors / reflectors

- Fastening method self-adhesive
- for pocket-size line sensor PosCon

- Fastening method self-adhesive
- for pocket-size line sensor PosCon

Reflective tape By the meter Reflective tape By the meter Reflective tape By the meter
s i
™
© L=.m L=..m
L=..m
Part number FTDL 0051000/ ... m Part number FTDL 0201000/ ... m Part number FTDL 0351000/ ... m

- Fastening method self-adhesive
- for pocket-size line sensor PosCon

- Fastening method self-adhesive
- for pocket-size line sensor PosCon

- Fastening method self-adhesive
- for pocket-size line sensor PosCon

Reflective tape By the meter Reflective tape By the meter Reflective tape rectangular
= o~
3 © -
50
L=..m L=..m
Part number FTDL 0501000/ ... m Part number FTDL 6101000/ ... m Part number FTDF 012M050

- Fastening method self-adhesive
- for pocket-size line sensor ParCon

- Bracket with reflector film
- for pocket-size line sensor ParCon

- Bracket with reflector film
- for pocket-size line sensor ParCon

Reflector bracket Reflector bracket Reflective tape rectangular
— /I/'
@ ///I
!
® B i
/I/'
/,/’
/I/I
234
Part number FTDR 008V1030/01 Part number FTDR 008M030/21 Part number FTDF 050M234

- Fastening method self-adhesive
- for pocket-size line sensor ParCon

www.baumerelectric.com



Accessories photoelectric sensors

Cap nut Series 18| | Cap nut Series 18 | | Glass cover Series 18
1 mm thick
~ o
0 20 220
215
Part number 103067 Part number 115913 Part number 103068
- for glass cover - for doubling lens and glass cover
Doubling lens Series 18| | Cap nut Series 30 | | Glass cover Series 30
1 mm thick @
o
(7]
c
[
7]
DD © e
U\ o ]
- Q
)
o
=]
£
215 4,7 233 =
1 T 228 0
2
S
(7]
(7]
8
Part number 107250 Part number 102801 Part number 103226 2
- to double the sensing distance FZAM 18 - for glass cover
Doubling lens Series 30 | | Slot aperture stickers  Series 14
10,5
© ’
OO 7l
N o
© h
()
0 26 :
Part number 107408 Part number 144075
- to double the sensing distance FZAM 30 - contents: 2
- self-adhesive

www.baumerelectric.com -



Pulse disks

)
B
=]
@
=
o
)
o

=
©

g
©
[<]

2
)

=
[-3%
0
4

=
o
@
]
4
o
S
<

Accessories photoelectric sensors / Pulse disks

- Number of pulses: 1
- for fork sensors

- Number of pulses: 60
- for fork sensors

Pulse disk IPS 70 Pulse disk IPS 70 Pulse disk IPS 70
M3 M3 ‘ M3
220 220 220
| | |
H | H | H |
0 (G 0 (G B (G
4 1 (max. 8) 4 1 (max. 8) 4 1 (max. 8)
i i i
0.8 252 0.8 252 0.8 252
7.5 270 7.5 270 7,6 270
Part number IPS 70/1 Part number IPS 70/60 Part number IPS 70/100

- Number of pulses: 100

- for fork sensors

www.baumerelectric.com






